BME Department of Mechanics, Materials and Structures Statics
HW?2. Bar forces of trusses 19.02.2020.
4. Calculate the bar forces of the truss! (14 points)
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Data P [kN] a [m] b [m]
Example 10 3
Individual
All the results should be given as signed values.
Supports: positive T, ». Compressed bar: -, tensile bar +.
Results A, [kN] By, [KN] B, [kN] 1-2 [kN] 1-3 [kN] 2-3 [kN]
Example +43,33 +36,67 +10 +100 -105,4 0
Individual
Results 2-4 [kN] 3-4 [kN] 3-5 [kN] 4-5 [KN] 4-6 [KN] 5-6 [kN]
Example +100 -31,62 -73,79 +10 +70 -36,06
Individual
Results 5-7 [kN] 6-7 [kN] 6-8 [kN] 7-9 [kN] 7-8 [kN] 8-9 [kN]
Example -42,16 +20 +40 -10,54 -42,43 -6,67
Individual

Individual data, checking and uploading the solutions: www.szt.bme.hu/files/statika/index.php?lang=en




